Efficiency vs Dxy(PV)
E 0.3
0.09]
S
©0.08
>
20.07
5]
'50.06
g
©0.05

0.04

0.03

0.02

0.0

R

Ratio

0.

5 =30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFit10000__RECO
—— DQM_V0001_R000000001__Global__mKkFit1000__RECO
[Efficienc]| —— DQM_v0001_R000000001_Global__mKkFit1000ATime__RECO

> L
a L
5 F
5 e
o I
e
> F
c 0.8
2 B . . .
g r : : :
X S S :
0.4f-feeet :
0.2f-f--- :
- : b :
¥ i P i
o+ . ! .
T |
x i
- :
|
.

“-1-0.8-0.6-0.4-0.2 0 0.20.4 0608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

< [ .
o L N
§ f :
A REREEEPEPRREED Bl
s I .
> :
o I .
Y A S SN S S
2 [ .
= r N
@ - :
0.6f----deeeee e D A e
0.4:_ ............ [ —— J: ............ [
0.2+ reeeeees FRRTE | P S R PRE beeees
[ i i ; i i
o+ ¥
T
@
i
0%36 =20 -10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

r>~lA 5 -

o L .

¥ :

P 1 R A R
> .

> N

o .

FRE: iR R CEEEREEP RN
o [ .

© - .

0.6 -----" PR FRREREEE :

o
»
T
.

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


